REVWHEABICHITIMSHRAERR

n £ BEOVDHDEAER
A £ A B : FEr27%F12H28H
pi (| E =1 - #h_E=50cm
= 1R EHANE = 1 M EHAME = 1 M EHAME = 1R EHANE =n 1R EHANE
No ﬁﬁnl% (u SV/h) No ﬁﬁnl% (u SV/h) No ﬁﬁnl% (u SV/h) No ﬁﬁnl% (u SV/h) No ﬁﬁni% (u SV/h)
1 EIE15 0.122 12 ML 0.093 22 | 7°79=—-n\9IR 0.132 32 ERU 0.115 43 E %6 0.306
2 EIE15 0.101 13 ML 0.096 23 [ IZALehHT=Y 0.116 33 VZ Nt WP 0.103 44 | HOEAOT 0.243
3 EIE15 0.117 14 ML 0.124 24 | HrOEYRYE 0.141 34 | 7AN AR %1 0.087 45 | HOEL2 0.351
o L4 EIE15 0.121 15 ML 0.095 25 EEY-Y- 0.106 35 TUEFH 0.091 46 | HDOEAO3 0.174
ﬁ;% 5 Z BWIILE 0.088 16 ML 0.115 26 | avE'r—Y3y 0.121 36 ITRYE 0.139 47 | HOFEP4 0.140
i# 6 NOYIN: 0.134 17 ML 0.148 27 | Vb R—Y3v3iz 0.116 37 A7y 0.154 48 | HOFEX5 0.150
% 7 L&ESASE 0.134 18 REEREER 1 0.077 28 | <BBMWARL 0.157 38 E&1 0.196 49 Eg7 0.150
8 737-h"—T'V 0.121 19 AREEHEER2 0.094 29 | AURRTYT 0.123 39 Eg2 0.205 50 E&s 0.099
9 ISR 0.117 20 BiEr D SIREE (M) 0.124 20 $py7’E =L (M) 0.081 40 Ei&3 0.139 51 Efz3e) 0.172
10 | AAHEDLIE 0.110 BIEE D B IREE 0.079 I A 0.084 41 Ei&4 0.086 52 Ei&10 0.148
1 | BZaAUNGE 0.103 21 AKTY 0.142 31 | F£AH=b2 0.144 42 E %5 0.107 53 Ei&11 0.101
et =2 1| EHANE
231310y (NO (M Sv.”h)
YWy
= Ei&12 0.112
WhET ) =
B LOIEEE E&13 0.176
— Eig14 0.111
E15 0.170
Ei&16 0.168
0.154
0.173
R HOEA6 0.156
\
= % E ATIE RN
; v jc.;
o =1
1 #%
= 2 1ol I ; = g
N Mj =Y s




